17_75y7) AIR ACTION

Air clamp

BI7-757 SYU—-X TAHBZE

Hold down Pneumatic clamp

No.201S m

o o
= M
8.5
M10x60
8 & 2
i I M12 P=1.75 o)
o il
o, (R-RC)1/8
ﬁi_ [
)
wl .1_
= 55_|_65 \ po
(3]
) V' U\ (R-RO)/8 @
Lo
WED Holding capacity 1.0kMN{100kgf){0.5M PalsF) (219) <TUHS jﬂ%)
BEE weignt 1,790g ! P
HH materiais AF =) (Steel)
B3 A mounting method 75w Y~—2 (Flange base)
RS FJL b (Hex Head Bolt) M10X60 17
i Fu bk (Nut) 2E/B4 (Washer) 2#
No.501S To

M12x110
3
w
~
)
(100)
o
g5 \
\ |
\;\ Y\ ®R-RO3IB
\,:\ \}i& [ (R-RC)1/8 ‘
i
FEA Holding capacity 1.9kN(190kgf){0.5M PalF) B
BB veian 5,6508 <PLoSLIR>
HH materiats ZF—J (Steel)

A A& mounting method 75w ¥~—2 (Flange base)

HEE rccossor #J+ (Hex Head Bolt) M12%110 17
S Fw b (Nut) 2{8/EE® (Washer) 2#

92



